SAP ABAP table ATP EKET {Generated Table for View}

ATP EKET-EBELN = EKKO-EBELN
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1. ATP EKET-SOBKZ = T148-SOBKZ
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EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

LFAl

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

TOO0O
MANDT [CLNT (3)]

TOO1lL
MANDT [CLNT (3)]
WERKS [CHAR (4)]
LGORT [CHAR (4)]

TOO1lW
MANDT [CLNT (3)]
WERKS [CHAR (4)]

TOO06

MANDT [CLNT (3)]
MSEHI [UNIT (3)]

T148

MANDT [CLNT (3)]
SOBKZ [CHAR (1)]
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. ATP_EKETPSTYP = T163-PSTYP  1.N

MANDT [CLNT (3)]

BWTAR [CHAR (10)]
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T163

MANDT [CLNT (3)]

PSTYP [CHAR (1)]

T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]




